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Rather Kohl is inclusive — RM297 95 R9R (0w

OVERVIEW

The X723 concluded that “93° (in the 199 of ¥wo 127 92 HY) is not to be construed as
a (9921 v19Y) 999, but rather as a M2, to include everything even Xnu 1. Our
Mmoo reconciles this view with the Xn>72 mentioned previously.

Moo responds to an anticipated difficulty:
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Even though the Xn>»m2 expounds the P10 of YW 127 %5 H¥ as a 3"DI, not as a
[>1271 1w n] M2, as the X3 concludes here, nonetheless it is not because the

XN»72 actually expounds the 105 in this manner as a 3"1913 -
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But rather for whatever reason we include anything which is 1% 19131 Subun
(even Xnv qW) -

$NT 12393 VP RN NINY 1R AYITY 290
But since this w97 of 2"1910 is routine in the X973 (it is more common than a

[>1277 vwwn] M), therefore the XN»72 mentions the 7wA7 in this manner of a
5"92.

SUMMARY
When the &n>72 used the term 2™913 it was not exact, since it is a (*1271 VY1) M2,
it merely used the more commonly accepted w7.

THINKING IT OVER

It is apparent from Moo that even if the Xn>72 states 3"1912 it can mean VWM M2
"27). Why then when the X713 initially said that 93 is a »12», the X3 asked but by
Twyn it also says 75 and nevertheless it is not a »12°7; what is the question perhaps
by Twwn also (even though it says 2"1919) it means 2" like our xn»92?!

! This moo1n should precede the previous a2 7" Moo,

* This seems to mean a ™27 L™ "2 where the rule is that we include everything except that each v"» can
exclude one item. [By a "2 0w 1 "121 each 019 always functions individually.]
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* We conclude that it is because of (1271 v1¥°1) »127.

> See My O1.
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